58  Column =# - sz

R R R 3]
S AR

Research on Tightening Torque of Pressure Riveting Screws for Nuclear Power Plant Cabinets

KALRITARARGTIEBRAT KfH, B, s

RE: $HMZBIEEIMBETEMNZENENEEHI “TE" GG
BRI, XSEIHMRETNREENE#HIT T IHEMR. RIEEBRESRE
ST E RENRMEIMRS T FMMERE N, EBMEM3I,
M4, M5. M6EHMESTARIENEEAEENLSmm. 2.0mm. 3.0mm
REWRHITIRE, REESHEHESBINTRAEERR. REM
REIRITMNEENEREFE, ZEEETBRAN, ALK AT
ZERIEHERTIEE R, BrEE&BIEEXIIENZ A,
REEIE: tEBh; HUE; U], BEHRE

Abstract: This paper mainly describes the research on tightening torque
of pressure riveting screws for nuclear power plant cabinets. According to
theoretical tightening torque of ordinary screws and allowable tightening
torque of pressure riveting screws, the test is carried out for pressure
riveting screws of M3, M4, M5 and M6, which are riveted to 1.5mm,
2.0mm and 3mm thick steel plates. The result is a table of recommended
tightening torques for different pressure riveting screws riveted to
different thick steel plates. The screws with recommended tightening
torques can be fastened reliably, and have been validated to meet the
requirements of nuclear power plants by seismic test. The recommended

plants.
Key words: Nuclear power plant; Cabinet; Pressure riveting screw;
Tightening torque

1 5]

onf

HUER B R F SRR A R 7, RS
RN RVEEER, XN AR 2 2R
ZREE, BRASVLENEINEE B & R BITE
PERE. PUEMME. WUAE. VUE_ERTE AFRINUME 12
YIRARE, FIEE, JERERTH R E AU B RAE HE
PUAERZ 2 r] M R 22, AT, REBTE
KEE,

tightening torques have been applied in some projects of nuclear power

FEIVRE M NEPRET, EIRAE) BT
EEERAERPAEENERL, B 2N AERE
Tk, FEEIRETFEUEFR MRSy EiE, EEA
RENYAEE TR ZI, HEEE L. SmmiE[]
LRMO LIRS 124, SPURET RE AR EN, E YR
ETEmEHE MR, ELTR. ZARBESNE
HIREESFE, ARASHE, S HR #0.
HVE, ERELEIRESHEY, ‘2% 2RE
TTALRIARATT B, DV ERAUAE 68 T B R AR BT B9 22
LEFEE, AR TREARIM3, M4, M5, M6
HURESMRET, I EIIER HEREN1.5mm, 2.0mm
F13.0mmAISPCCHIMR £, i H X E A FEHEAT T MR
5, FEMER RS T RYIRE] R E ) R,
YT

RERH

#EAE
48
TRAHH
SIS TESSSE f
Z A7 7e
EREATHE

El EYMRETEE “MRE°

2 EENERIE

M SEIRARIE R AUWITE, BB, BIAARE S DA
B LRI BT SRR T R AT B, S RURSUE TR AN



2021.09 AUTOMATION PANORAMA : 59

WEREY, —REDOVIBRRAY EE A S I8 E
%, ek, HTEENREERR, SRk,
IR EE AR S HMAS A b, 5B ITERES
K. COERAFSCHEERSHEREE R, N TIERER,
HEE T T s RIESEMESRE 46T FIIE R 5 1%
EERE (BEY) SRR T, &E )
mrHEAReR (1) FrRY:

T=T,+T,=KF'd 1

A

K—BRE R

F—%J1, N;

d—IBEUAFRESR, mm.

FRE F7 0K/ NR AR IB B AR 2 =2 7 B9 AR %
B TAFZSROUE, WIHINERRIEFFRNE S, X~
NAFE RN R I K, — R i1 B R IBSUE
TE SIS ART EA R AR S AI80%, X T —RiER:
FEEMZR, #HENTMENFIITHEARDR (2)
R

F'=(0.6~0.7) o, A, )

A

o, BRIV EARA, MPa;

A 2R PR EEAY, mm’

SRR LREN AR, RAOFEBRSAEERE
EFRTEROEREAFREAIE I, —REB AR, T
[, AT DO T EE A BN AR R 1BK=0.22, 1R
'R (D) fX (), HWEVHESERRIT TR A
M3~M 16U IEAR Y B [ ) B A 2R 2 AR,

&1 FFENERHKY

EERRERES B8 TiEE
BNIEE 0.10 0.12
—RmIEA 0.13-0.15 0.18-0.21
=@EAW 0.20 0.24
REEF 0.18 0.22
TN T EE - 0.26~0.30
R2 TR EEHE

gg ’L\;Jﬁgi HEEEHET (Nem)

1=
d/mm Aﬁfﬁq : f;;i320MPa 2;2400 MPa g;§480 MPa

3 5.03 0.63~0.75 0.80~0.93 0.96~1.11
4 8.78 1.48~1.73 1.85~2.16 2.23~2.60
5 14.2 3.00~3.5 3.75~4.37 4.50~5.25

6 20.1 5.09~5.94 6.37~7.43 7.64~8.91

8 36.6 12.37~14.43 |15.46~18.04 |18.55~21.64
10 58.0 24.50~28.58 |30.62~35.73 |36.75~42.87
12 84.3 42.73~49.85 [53.41~62.31 |64.09~74.78
16 157 106.11~123.79 | 132.63~154.74 | 159.16~185.69

3 [ENMBESTHLE £EHE

2165 P PR ET 7 o T PRI B9 R (B

FEUNR3FTR,

®3 EYMBETME EEHED
WRLGIE M3 M4 M5 M6
S& REJI5EN-m 1.4 2.7 3.8 8.1
IR FIHENm 1.7 42 6.5 11.3
RINIREEMmM 15 15 1.5 2.2

4 EEHEWLRE

EERTATLAE & A RAS R IMZETM3X 10, M4X12,
M5X16. M6X20F1% HE~EL.5mm, 2.0mmAl3.0mm
HISPCCHIMREH TR E AR, R B 252 RFEH
T R BT R B AN [V P A T % [ ) R A 5
HIBL “TIRE” REEIFEE, AT [F S [ 0 AR X
7= A ML R AT SR AR

4.1 RWFHEER

RARIEIR IR 5% (4 5 SEFm 6 15 A B 4F RO AR 1B
M, R AR AR E IR T

S ORINTEE N1 5 mm., 2.0mm#3.0mm, #

FRHSPCCH “FEHNEAR” &—H, WE2FTR,

200

o o o2

200
50%3=150

o e o
Ve
o) &'ﬁ)
g

2.
50X3=150 3

E2 EEIR
- INTJEEEDSL.5mm, #MENSPCCHY “ZEEiR”
—HR, WMEBATR,



60 | Column =# - sz

200

w&(
o o o /:/
&> 2
g 4
o <
o o o &
©
© o o
‘J Wn}

&

50X3=150

[}
1

B3 &R

A CEBIEAR” TN AL AT R RET 1 A
2 1E,

© O YEBIERAR” R IR EITREBR, EXK
“FEHNRAR” BRI R IMEET T AN AT IR ARE R,

R AR "R R (PAFLI R
M3FMEHYENEET)

- AN AAEHIGB/T 97.1 AZLFHEL GB 9345
HERIG B RIGB/T 6170 174 /< 18 Ek,

- MREERAZ SO & R IR i I R [ 1%, I
fitrid st BENEEL Smm, 2.0mmFl13.0mmf =50
AR BITESR)

R4 HEIRICDRETNE

RETANE ZEFIFENm &
M3X10 | 0.63 | 0.75 1.4 17
M4x12 | 148 | 173 2.7 42
M5X16 | 3.00 3.5 3.8 6.5
MEX20 | 5.09 | 5.94 8.1 113
E:

- RAPETIEIENRIBICITEASRIER RE S
ERER/IME; ETIIHIERRIEIRITEASREEIE
NERAE; F=FNENMRETFRRAENSE ZEIE
8; EWFIAEIRTFMAERIF ZEIEE;

- EAEIERAMSIE ETRERENEENE
B () HI “ME" HRNRELEE;

- SMAEONEDRT], REHP-MH R
MME" mBICRZEENERE,

42 AL

IRIBFRIEZE SR, MUAEREIRE ZHRS B2 H
M HATRIE™, AN SOREHE AN 52 E ) AR R 4T 5
HIIER “TrE”" 3 =550

MG AR AT L MG, FETER
R, AR NI o P AR AR B AR

C—REMIRE s OISR WM FE, FETCN R
Bt —REMFERZNA = S ANILE R, NEE B A I
FM;

CPEMRE: HEAW, FEEANER, CEM
FEAgZm = S AT SRR, 1= S A XIS AN Ao i

RIB IR IR B, BN FERA 0 EOEET AR
BRI _E B VIR RO S5 A R Y [ ) A
WFRSHTRo

RS EEIERBER

KEFIEENm
1.5mm 2.0mm 3.0mm -
ol |EW —m [FE |ER R [P | o 8 |FE |
MFE | MFE | MFE | M | MBE | M | MFE | ME | M
M3X10 |7 x x ¥ ¥ P T I 0.2
M4X12 (3.5 |F& I ¥ ¥ xr [T ¥ I 0.4
M5X16 (2.5 [3.8 |6.0 (3.8 |45 |6.0 [3.8 |45 [65 |06
M6X20 (40 |6.0 |80 (65 |75 |113|6.5 |85 |F& 0.8

5 &g

ML I T UL, A K I R N TR A Al T R
EIHEE I MR B EREAMS KE I ER N
x, EHWREEMHR, RiERRREE RN I E
HHZR, 57 REEMINIAR SR T IIRET 5 (& ) FE it
FEIMROHTR, 57 a5 SNILTE R PR ET 5 &

JIEAEFEENR TR,
R6 SHIMMEXEYMRETEE I EREFE
HFREESIFENm
ks 1.5mm | 2.0mm | 3.0mm
M3 0.7+0.1
M4 1.7%£0.2
M5 1.5%0.2 2.0+0.2
M6 2.0£0.2 4.0%0.2




2021.09 AUTOMATION PANORAMA i 61

RT SHMATXENESTEENEHRTFE

R HFZESIFENm
1.5mm | 2.0mm | 3.0mm
M3 0.7+0.1
M4 1.7£0.2
M5 3.3+0.3
M6 5.4%0.5

SEBRA A AR A R ARSE BA B L TIRA, R E
REEIEMEFAETTER R R ZR, NIFEEEL BN

o

SE R
1

EJ/T 800.1-1993, R NHEAHTE. MHRAFEFIHIAELS].

2] GB/T 7353-1999, T Bapfbi¥ERE. 1E. & F[S].

[1]

[2]

[3] PennEngineering. Self-Clinching Studs And Pins[Z]. 2020.

[4] RS, MR FAM (582%) . b wE Tk Hhivtt, 2007 : 69 - 72.

7T SEECEE R T 2R E A R E I MEE, HTTIEM
TEE MR R, RIS TR RIS AE S EL
&, AR AT s,

EE RN

& & (1979-) , 5B, kWA, SENWIEW, F
T, MMBRFIRTFRRAZIEERAE, TEMNE
RIS I RS RETIRIT T,



